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QUESTION 1

A session bean\\'s business method throws an exception during execution. Which two are responsibilities of the Bean
Provider when throwing the exception? (Choose two.) 

A. For application exceptions, ensure that if the current transaction commits there will be no loss of data integrity. 

B. For application exceptions, ensurethatthe current transaction will commit. 

C. For system errors, when the client is remote, throw a java.rmi.RemoteException that wraps the original exception. 

D. For checked exceptions from which the bean cannot recover, throw an EJBException that wraps the original
exception. 

Correct Answer: AD 

 

 

QUESTION 2

FooBean and BarBean are both EJB 3.0 stateless session beans with container-managed transaction demarcation. All
business methods in FooBean have transaction attribute REQUIRED, and all business methods in BarBean have 

transaction attribute REQUIRES_NEW. The business method foo in FooBean invokes the business method bar in
BarBean. 

Given: 

10.

 public class BarBean { 

11.

 public void bar0{ 

12.

 throw new RuntimeException("unexpected error..."); 13.} 

Which is true about the result of this method invocation assuming execution reaches Line 12? 

A. FooBean.foo method receives javax.ejb.EJBException. 

B. TheBarBean bean instance is in ready state for the next invocation. 

C. FooBean.foo methodreceivesjavax.ejb.EJBTransactionRolledbackException. 

D. FooBean.foo method receivestheoriginal RuntimeException thrown fromBarBean.bar method. 

Correct Answer: A 
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QUESTION 3

A developer is writing a stateless session bean that is obtaining a transaction-scoped entity manager using injection and
assumes the application defines one persistence unit. Which declaration is correct? 

A. ©ResourceEntityManagerem; 

B. @PersistenceUnit EntityManager em; 

C. @PersistenceContext EntityManager em; 

D. @PersistenceUnit("TransactionScoped") EntityManager em; 

Correct Answer: C 

 

 

QUESTION 4

Which two are true about EJB 3.0 exception classes? (Choose two.) 

A. The javax.ejb.NoSuchEJBException is an application exception. 

B. The javax.ejb.EJBException extends Java. lang. RuntimeException. 

C. The javax.ejb.EJBTransactionRequiredException is an application exception. 

D. An application exception must NOT be a subclass of Java.rmi.RemoteException. 

E. The javax.ejb.EJBTransactionRolledbackException is an application exception. 

F. Any subclass of Java.lang.RuntimeException is always considered a system exception. 

Correct Answer: BD 

 

QUESTION 5

Which statement is true about the Timer service in an EJB 3.0 stateless session bean? 

A. The timeout callback method contains the business logic that handles the timeout event. 

B. The timeout callback method must be declared as a business method in business interfaces. 

C. The timeout callback method can throw application exceptions to report business logic failures. 

D. A bean class can implement multiple timeout callback methods, each associated with a different timer. 

Correct Answer: A 
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